
Name: LösungsschlüsselMultiplizieren mit Anordnungen
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Antworten

1. 4.347

2. 3.498

3. 2.226

4. 3.816

5. 4.650

6. 6.512

Benutze die vorgegebene Anordnung um jede Aufgabe zu lösen.

1) 63•69 =

60

60

3

(60 × 60)
3.600

(3 × 60)
180

(3 × 9)
27

9

(60 × 9)
540

2) 66•53 =

60

50

6

(60 × 50)
3.000

(6 × 50)
300

(6 × 3)
18

3

(60 × 3)
180

3) 42•53 =

40

50

2

(40 × 50)
2.000

(2 × 50)
100

(2 × 3)
6

3

(40 × 3)
120

4) 53•72 =

50

70

3

(50 × 70)
3.500

(3 × 70)
210

(3 × 2)
6

2

(50 × 2)
100

5) 62•75 =

60

70

2

(60 × 70)
4.200

(2 × 70)
140

(2 × 5)
10

5

(60 × 5)
300

6) 74•88 =

70

80

4

(70 × 80)
5.600

(4 × 80)
320

(4 × 8)
32

8

(70 × 8)
560



Name: LösungsschlüsselMultiplizieren mit Anordnungen

Mathe www.CommonCoreSheets.de 2

Antworten

1. 4.347

2. 3.498

3. 2.226

4. 3.816

5. 4.650

6. 6.512

Benutze die vorgegebene Anordnung um jede Aufgabe zu lösen.

1) 63•69 =

60

60

3

(60 × 60)
3.600

(3 × 60)
180

(3 × 9)
27

9

(60 × 9)
540

2) 66•53 =

60

50

6

(60 × 50)
3.000

(6 × 50)
300

(6 × 3)
18

3

(60 × 3)
180

3) 42•53 =

40

50

2

(40 × 50)
2.000

(2 × 50)
100

(2 × 3)
6

3

(40 × 3)
120

4) 53•72 =

50

70

3

(50 × 70)
3.500

(3 × 70)
210

(3 × 2)
6

2

(50 × 2)
100

5) 62•75 =

60

70

2

(60 × 70)
4.200

(2 × 70)
140

(2 × 5)
10

5

(60 × 5)
300

6) 74•88 =

70

80

4

(70 × 80)
5.600

(4 × 80)
320

(4 × 8)
32

8

(70 × 8)
560

1-6 83 67 50 33 17 0


	Worksheet
	Lösungsschlüssel

